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Skontroluj si správne odpovede: 

1)  d3, h2, e3, a2, g3, c3, f3 

 

2) a)  as2, fis1, dis2, b/hes – malé, cis2, ges2, ais – malé 

b) g – malé, ais1, es2, c3, b1, as – malé, fis2 

 

3) a) cisis1, fisis1, (potom má byť disis1), aisis1, (má byť cisis2), gisis1, disis2 

b) deses1, (má byť heses/bes1), eses2, (má byť geses1), deses2, asas1, (má byť deses1) 

 

4) 1. takt sú noty b/hes1 + cis2 

2. takt – c1+d1+fis1 

3. takt – a2+c3+e3 

4. takt – d1+fis1+g1+h1 

5. takt – a-malé+cis1+e1+g1 

6. takt – h1+dis2+fis2 


